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GEOGRAPHY

T 3l "R quiie 56
wenfial @ forg W Ay —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Temrfl Ewerd 3wy uH W AwiE sifvaria: o |
Candidate must write first his/her Roll No. on the question paper compulsorily.

2. @) 4o &4 afard 21

All the questions are compulasory.
3. UA® ¥ &1 IR 41 T8 IoR gRasr ¥ € ford |
Write the answer to each question in the given answer book only.
4. f5F ool A A=IRE Wrs 8 99 Wit @ IR @ A & o |
For questions having more than one part the answers to those parts are to be
written together in continuity.
5 7% U3 & 2l W 3Ol wumR ¥ Rl vaeR ot FR /R / fRumm B R 2R
aIGT & U B Al HA |
If there is any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.
6. U39 &1 SR forms A ¢ we &1 wHie aaeg ford |
Write down the serial number of the guestion before attempting it.
7. UFAT Bl IR PR 21

Weightage of marks for the guestion is as follows.

o | TRE

e | ue
wue-a(A) | 1(itox ), 2 toll | 20 1 20
Tvg—a(B) 12 to 15 4 2 8
@ue—¥(C) 16 to 19 4 3 12
@vs-2(D) 20to0 21 2 4 8
w@vs—a(E) 22to 23 2 4 8

7. W HHiG 20 W 21 AU o1 & Hata 8 3R uRw 4 3w a1 B
Question No. 20-21 are related to map-work carrying 4 marks each.

8. fiva, T v TR @ SuTEr S Y Y@ AFE o SuRgRas & wwr TRl o |

Attach the given outline maps of World, India and Rajasthan with the answer-book.




gus
Section A

1. fre= foflaw weel & S fafag —

Write the answer of following multiple choice questions in the given answer book.

@

(i)

(iii)

(iv)

v)

(vi)

(vii)

TaaETg o A e vl ?
@) Xewte (7)) Tom e @ = (@) Bl W 1

Who laid the foundation of Possiblism?
(A) Ratzel (B) Ellen Semple (C) Blache (D) Karl Sauer

AR A 10 O § AP TEEET g TR B T BE & 7
@) TR @ R (@) PR (3) BT TR 1

Cities with population more the 10 lakh in India are called.....
(A)Town (B) Metropolitan (C) Sannagar (Conurbation) (D) Large city

Reat AR @ oiaw A e Aeferi o1 safe e 7
(@) e woferi (7) gaa woferal (@) W—<ifaa () B Auferai 1

Which fish has preat importance in the life of Eskimos ?
(A)Seal Fishes (B) Whale Fishes (C) Sea Lion (D) Small Fishes

v &1 wrias 9om S g ?
(@) @ (7) s T GUsY (6) Aol Yme (8) YYURT 1

Which is the oldest economic activity of the world?
(A)Mining (B) Hunting & Food gathering (C) Fishing (D) Pastoralism

| 2011 B STTIVET & ATER WRA BT I ST v faem € ?

&) 294 (@) 321 (4) 382 (=) 390 1
According to the 2011 Census, the average population density in India is....
(A)294 (B) 321 (C) 382 (D) 390

AT oW WHIT P TH I D TSI § ?
@) Sharw fem T FA BT (@) SfRERe @R
(@) TERTER BT & WO W A3 () Suga w4 1

What is the solution to reduce the Green House Effect?
(A)Reduced use of fossil fuels (B) Planting more trees
(C) Prohibition on the use of chlorofluorecarbons (D) All of the above

TN aE FENT @) o e TR B wEa 8 ?
@ T @R (@) RO (€ Py 1



Which city is called the Capital of cotton textile industry?
(A) Mumbai (B) Kanpur (C) Gujarat (D) Coimbatore

(viii) wra § 9 1 GEQ TTT SRS T DIAET & ?
@ swRwu @) Rer (@) R (7) afieerg

Which is the largest Sugar producing state in India?
(A) Uttar Pradesh (B) Bihar (C) Maharashtra (D) Tamil Nadu

(ix) o= aRaoET f e oot o Sgaw aRaemT § ?
(&) NroRIT—TToRIT (s) SrorT-HEIR
(\) IoreT-voTe—gRamT (3) SeRRIT-YoTe 1

Chambal project is a joint project of which states?
(A) Rajasthan-Gujarat (B) Rajasthan-Madhya Pradesh
(C) Rajasthan-Punjab-Haryana (D) Rajasthan-Punjab

x) v d waite M g R Y ur smar & 7
@R @R @) dErR (€) SR 1

In which district is the largest bovine found in Rajasthan?
(A) Udaipur (B) Nagaur (C) Bikaner (D) Jodhpur

2. B TR ? 1
What is Cross?

3. feimua 59 wea & ? 1

What is the Sex-Ratio?

4. d-uRRem aferamr & <) Rl & S @ ? Yarta=1
Which two cities connects by East-West corridor?

5. URaeT BT Waw daad 7 AgFie | ST g 7 1
Which is the fastest and modern mode of transport ?

6. TTTRUTE B WS &1 IeTaEER oY e oar § ? 1
Why Rajasthan is called a Museum of Minerals?

7. Yot 3 feimaura o9 89 @ o Q1 R fafag | VaeVa=1
Write any two reasons for low Sex ratio in Rajasthan.

8. oTiRa® a arnfeass wfell ¥ @1 & i faRag | 1

Write any one difference between metallic and non-metallic minerals.




qvT HEr 9 & 11 ¥ Raw v @1 g wva gy sue-giasr ¥ fofdv —

Fill in the Blanks of questions No. 9 te 11 in the given answer book.

9. AT AW IR WS Mifers wew Rer €T 8, U8 W 6ET e g1
Human Society and its geographical relationship is not stable, all this relationship is ......cccceccvuiaie
10. TRE ¥ Fo XA 16 IV 1853 B TG W oo @ e 34 6. F g i
The first Train in India was run on 16 April 1853 between Mumbai to .....c.ccereeeene in 34 Kilometers.
| I 5352 2 R fiard faftal &1 9w B W @ qud TR =Ry 1
Water should be saved using ..............irrigation and ......... ... irrigation methods,
Y s q
Section-B
12. IRA ¥ TRY TaE gfg @ o8 9R sRY foafg | Vax4=2
Write any Four reasons for growth of urban population in India.
13. QI TFofa & e fsareaml o Ry | Vax4=2
Explain economic activities of Bushman tribe?
14, TS TAEY | AT T TIEE B ? 2
What do you understand by Tertiary occupation?
15. Ol WGEYT & fAGOr ¥ 9 IUN TAEY | Vax4=2

Write any four measures to control water pollution.

gre q
Section-C
16. UYART B FATGTT DTG | 3
Jeqar
IRa 3 vant @ Rem @ g 21 O e Hfmg 14+14+1=3
Critically explain the livestock rearing.
or
Give any three suggestions/measures for the development of industries in India.
17. Wo T yaol sty § @18 99 =R a5y | 14-14+1=3
3rqEr
e siftraral @1 e wga AIRw | 3

State any three differences between dense and scattered habitats.
or




Discuss the classification of human habitats.

18. WRA ¥ waEm gig o Fafa s @ O su geEy | 1+1+1=3
AT
ARA 3 WERTT R 99 & forg i dF g R | 1+1+1=3
Suggest any three measures to control population growth in India.

or
Give any three suggestions to increase literacy rate in India.

19. ARd A W T€F TENT & WGV B TG HA a1 DIE AW BRUT ST avi
DRI | arerar

1+1+1=3
weE uRRaed &) @ S|

3
Describe any three reasons affecting the localization of cotton textile industry in India.

or
Explain Road Transport.

gus q
Section-D

20. Ry ¢ e & Yar aafE & fA=ifda de-gaa saks a=! @ sifda Afg—1d=4

(@) Thar (@ ¥ (| §R (=) shareT
A

fy v Rvg & Yar gmfiE § FAsifea 9o g o e @ gy | 1xd4=4

(®) 9= (@ smam (@) sRh @Rar (@) sivERy
On the given outline map of the world Mark the location of the following Iron-Steel Producing

areas.
(A} Buffalo (B) Santos (C) Saar (D) Osaka
or
Mark the location of the following densely populated countries on the given outline map of the
world.
(A) China {(B) Japan (C) South Korea (D) Bangladesh

21. (@) Ry v 9Ra @& Yar aEf ¥ e gt o sur o= @) sifea
BT Vax4=2
(@) o (@) 75t (%) = (@) Tt
arerar
Ry ¢ Ra @ & AARE § =ity deife TR @ Rufy <aEy )
@) Rceme (@ s (@) 9=k (9 SR

On the the given outline map of India Mark the location of the following Cotton Textile Industries.

(A} Rajkot (B) Madurai (C) Beawar (D) Bhilwara
or
On the given outline map of India Mark the location of the following major industrial cities.
(A} Chittorgarh (B} Jaipur (C) Chennai (D) Srinagar

@) Ry Ty I @ Y aERE F freEifea Rl @) sifva DR -

Vax4=2
@) o (@) dwarer (@) @A (@) TEIR




Feran
Ry U xR @ X /e ¥ freifaa Rl @ sifta SR —

(@) TR (@) SR (@) PR (8) R
Mark the location of the following districts on the given outline map of Rajasthan,
(A) Bikaner (B) Banswara (C) Karauli (D) Nagaur

or

Mark the location of the following districts on the given outline map of Rajasthan.
{A) Bharatpur (B) Jaisalmer  (C) Ajmer (D} Sirohi

qug g
Section-E

22, fAvg ¥ ST vH@ @Y I e are e FRST @) @ PR | 4

arera

e R § ey Fur wE € ? o aRel & R w fAve 3 o faRm

P SETENVI Wfed WHEEY |

() srafterfy (i) oy (i) R 1x4=4
arerar

TEE ) WEEIE 6Ye W o g |

Describe the economic factors that affect the population density in the world.
or
What do you mean by population distribution? On the basis of the following factors explain the
population distribution in the world.
] location  (ii) Climate (iii) Relief
or
Write an essay on the Professional structure of the population.

23. Yo # 3TN wET @ e 8g o gIm Qv 4
e
o 3 R o) gl & few gy svm g ftw
ear
oy A e gfe @1 fvevoners g S|
Suggest the measures for development of Rajasthan dairy industry.
or
Suggest the measures for development of irrigation in Rajasthan.
or
Analyze the population growth in Rajasthan.




